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la. Reduce the network shown in 1(a)toa
B.
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Third Semester B.E. Degree Examiqffidtir'June/July 2O23
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Network Thgopf
Time: 3 hrs. ."# \ Max. Marks:. J lr.rD. j:a:]=,@s t rvr@^. lYrorNs,
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Note: Answer any FIVE full questions, ci@ffi ONE fult WestionffiWach module.

a st&. ir
."@.:,.,y

.t: "(a)*" { "r

ffi ftH network

shown in Fig. Q2 (a), using mesh analysis.

Fie. Q2 (a)
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source in series with a
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b. Determine the power supplied to the circuit shown in eig- aU (b) bV source 50'

also find the oower dissipied by each resistor in the ciqgtflq using nodal analysis.
Determine the power supplied to the circuit shown in Fig*,$#(b) bv.soulce 5010' v. And

also find the power dissipated by each resistor in the ciqgtflq using nodal analysis.

.-ff1*= Fig. Q2 (b) (10 Marks)

4Pn*

18EC32

(10 Marks)

3a.
Module-2

ffiil- j:::i::a::,

In the network rtro*# ':Fig. q: (a), two vqtt$o sources act on the load impedance

connected to the terffils A; B. If this load is"$aiiable in both reactance and resistance,

what load Zr- wil[&eive maximum power?.Whdt is the value.of the maximum power?
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b. Find the output voltag-"ffif for the circuit shfl,unrin Fig. Q3 (b)using Millman's theorem.
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Fig. Qa (a)
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alent for the network shown in Fig. Q4 (a).
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b. Determine the current through an ammeter having interna
shown in Fig. Q4 (b) using superposition theorem. \ilef

position A. The switch i*S
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b. In the circuit.$*rffivn in Fig. Q6.ffiI ffitch t< is changed from position I to 2 at t:0, having
.'.ry,- $s

been reachbd'bteady state before switching. Evaluate, i, I and # at t = 0'.' ** dt dt'
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t = 0. The switch is opened at
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Rc for wtric@ircuit shown in Fig. Q9 (b) resonates at all frequencies.

reference to qesonance circuit:
-q::]W

fuqY

dwrc]J

W'
W

'Fig. Qe (b)

4 of5
-d

ffi.

\W?

(04 Marks)



r
t
I
N

[''i
I

I

i

I

t
!

l

I

I

I

t

I

I

i

c. Obtain the H-parameters for the network shown in $

&*qcs#

l0 mV supply.p# fu\
Calculate.A*Pd (ii) Qo (iii) Band$fiidth (rv) f, and fz (v) Io (10 Marks)
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,m#* \*W oR *ry
10 a. Obtain ABCD p*u*ffi%tsrms 6f l-paramet.WX hence show that AD - BC = 1.

d-qk ff' _dp (10 Marks)

b. A series ru,C ffiuffiras R = l0 O. L = 0.&H-and C = 0.01 pF and it is connected across

io-vruppry.W* ffi
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